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HERIEH fii 4% #hHA WEE
AHEELHLE 800
JXRE 800
T DRBBERR|/NNFT1ViE
HEDHAIE
THRIFDEHERAER 3,500 100g
T D EKEEER 2,000 900g
T DR ERFRHAR 4,500 [4E%H 500g
T DR FREAER 2,500 [4E%H 500g
w it NnAko 5,000 [4E%H 300g
TOMERR oo 3000 [4E%A 3008
T D—EhEHEEAER 5,000
uu 9,000
cu 40,000
T =#EHEEAER|CUB 75,000
cD 40,000
=E 10kgfLl £ 45,000
BEE 25.6kegf T 20,000
T DEZERER FIE 51.2kgfE T 25,000
=E 102.4kgf L £ 55,000
HABBRE—R 44,000
uu 8,500
—mEEAEEER |CU 16,500
cD 15,000
T ?DpH HAER 3,500
T D URHEEER 6,500
T D& EE E A ER 4,500
ot KL 20,000
TOBKABR | gy 12,000
& ®10,2.5kg 10,000
& ®15,2.5kg 13,500
 OBEDHE & [$1545ke 14,500
3 ®10,2.5kg 18,500
72 $15,2.5kg 23,000
& [$1545ke 30,000
ey |BRE 7,500 [7~10H
CBREER |© [ZKt 11,000 [7~108
{81IE (CBR) 100,000
BARIE S BR * 1 160,000
L FaEL * 2 100,000
BRERHR  mEt 85,000
y L 150,000
RARSERS 2 wWEL 130,000
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HEXRIEHE & #hEA WES B {57
MRS ER A SR ER 28 5,000 1 5
Syl |[FOvotkEe 8,000 1 A
i |a7ikEE 5,000 1 A
REMEERUBKE 6,000 1 3%
57 RRRL 18,500 "
i —EEREHBR (T AV ILT—D) 8,500 1 R
=
+ BAR7UUL(—E#MED) 22,000 "
5| ok R E S ER 6,500 "
BERIGEEEAER 5,500 "
uu 85,000 3 A
SE=#E5&A |cu 230,000 "
J£ 50kgef/cm? CuUB 260,000 "
CcD 260,000 I
E% |HRES1.2kef £T 1 A
HER |=E102.4kgfLl E 1"
Sty (BB L 1,800 1K
iﬁlﬁlf& Rt 3,000 "
54 2HMESE 5,500
B [ERHESE 3.500 L
T [RRARERE 3,000 1 Rk
HE R E 2,800 "
—EEREHBR (T AV ILT—D) 4,000 "
0.5kg~2.0kg 6,000 1 508
PIEER (TJL  |2.0kg~4.0kg 8,500 I
1) 4.0kg~ 10.0kg 14,500 "
10.0kg~ Bl&RFE 17
BN -wm/NEERER 8,500 1 34
LEd J— B0 AEAN) 3,500 18
oo s 3,500 | Bt
KL |0.5kg LLE 2,000 1 54
=B K ER 23,000 1 A
HEKERE (BERE) 1,500 1 A
==} 500 1 R—X




